HENDERSON

Twinbolt

System specification — For use with SF50 — SF100 — SF150 — SFBR 80

Product Minimum Maximum door | Maximum door
Product name door . .
short code . thickness height
thickness
Securefold 50kg & 100kg non mortice TB/SF 3300mm
Securefold 50kg & 100kg mortice TB/SFM 3300mm
Securefold 150kg non mortice TB/SF150 56mm 68mm 4000mm
Securefold bottom roller 80kg non mortice TB/SFBR 3000mm
Securefold bottom roller 80kg mortice TB/SFMBR 3000mm

Content of kit (supplied in two packages)

Content of package one

Content of package two

2 x Shoot bolt block 1 x Cover plate

1 x Long Lock rod
1 x Short lock rod

(Including assembled shoot bolts, connection
pins and screws)

1 x Lock box

2 x Keep plate

2 x Floor keep

Screw pack contents

(Only 1 in SFBR kits)

*

4 x @4.5 x 30 Wood screw

2 x 1 & %" x 8g Woodscrews

2 x M4x9 Countersink head
screw

Accessories

E 3

Cover strip — available in
Black, Brown or White

Handle Kit — Including Handle, Cylinder cover
plate and screws




Tools required

Router

Posi drive
screwdriver

//7
Drill & drill bit sizes

3.0 & B4.1 (for
adjustment only)

@

Tape measure

Hacksaw (for
adjustment only)

Pencil (for
adjustment only)




detail

Door routin

P,
“ mv/
S ﬂ_“,/
e
i &, %
0L e &4 /
(o] 4/
| = I .
8 L 2 =X
@ / ¢ —
© / .m.e e
a \ h.mvl N
[ \\ nm’
.u_w / g (=]
o / >
¢ N
v o
1) -
a N ' "
£ w7 b
)] /)
o) oo
_Ww' Yy / \ c
- o, - =
o &/ ,, _ & 2
J | .Mm %ﬁ'v T ©!
5 ICC
s | | 85 § \.\ 82 ! &
%2 < - e >
¥ A a o
3 | 8% G+ eRP °s | L
o Q. e x _—
x - \ S5 w
I o P Q - o3 a
__.L £ [ 7] 5 ._m”, \ o a= ®
S Z - Z
o = w
- I nmw ¢ o
; A (7o S
o
oD ~
75) .
\\
N, w0 \\
\ ~ e
\ o~ —
m E|E|E /./ \\\ \\\ ///
t|E|E|E N\ \ —_— / \
oln|wn|< AN S 1 <2 |
|| \, o N J \
M \v AN - - T ]
!/ Y, i -~ edpe _/ \ /
[ I fgmam==s \ /
S ele \ \\ M~ / \ \ d V/ I.\\
tie / / / £ -
s|E|E|€E A - / <5
M < N \\ / A,l,/ [ * S~ O % -
2lg[N5]8 // - Sy
ol o / / S T
0wz /) M _- C
m X | > \\\\\\ :lililllllll \\\\\ AHd
IR \\ l.i.,l,!Ii.ll I
wlaln \\ e e it e e o e i e e
FARAR !/
E iR /
ol O = \.
HEE
= @ H
HEE
8|8







22mm Bolt engagement = 10 — 16mm

Shoot bolt throw

SF 50 & SF 100 version

w9 = NIN ..._ WWOOEE = LHOEH ¥00ad WNWIXYIN -
ww Z} = XYW

Non mortice version
[
1

fo} o @.__.m.___@—.o o

24
56 - 68

ﬁ.-_.|||||--.'. e

ww g = NIN - wwOee = LHOIFH J400a NNWIXVIN =
ww gl = XvIN

—————— (@ rHHmm,. ® \ — % ® L2/ % g
= ;m - __ m CTTTT _"r

Mortice version
I
!
M|
||!
||I
|
|
|
|
|
L

-
[
|
|
'
5
56 - 68




Non mortice version

22mm Bolt engagement = 8 — 16mm

Shoot bolt throw

Mortice version

SFBR 80 version

—

wwo0e = LHOIZH {00a WNINIXYIN

ww 9 =NIN
w1 = XVIN

— = am f "
Hlm.lllhmm— _.._ \ O 9] ) / ‘ ;— \ o 0 0,
——— = d o ' D

o}
O
©
©
—
o]

O
{_ﬁ

e Jo

=== T p.pe0 or !

———————— - S lo

56 - 68

wwinooe = LHOIFH {00a WNINIXVIN

ww 9 =NIN
ww 7L = XVIN

=====h 1 I |m

— . . * (o e

| |
=== ®L-—---° |Jﬁn.“ @ @l | ® ®-_—_- pE N — @
ﬁ- S @ @ e @ m

15
56 - 68




7 —-15mm

Bolt engagement

22 mm

Shoot bolt throw

SF 150 version

" e

]

wul / = NIW
ww el =XVIN

w00y = LHOIFH ¥00a WNIXVIN

ww g = NIN

ww gL =XviN

©) Q | © © ©

A




1. To reduce for specific door size, cut TOP LOCK ROD ONLY to suit door specific door height

Calculation Max leaf height (system specific) — actual leaf height = lock rod reduction

Max leaf height SFBR80 = 3000mm - SF50 & 100kg = 3300mm — SF150kg = 4000mm — SFBR80 = 3000mm

A. Remove connecting pin, B. Use connecting pin as
retain screws then cut to
length (see calculation

above)

drill guide — Drill 2 X @3.0

C. Remove connecting pin — open
out holes to @4.1. Re introduce
countersink as required

D. Reattach connecting pin and secure screws with
thread lock adhesive

Mortice
version

M4 x 12
Countersink
screws

Non -
mortice
version

E. Follow steps 2 through 7 to insert
hardware into door

Mortice
version

Non-
mortice
version




2. Attach lock rods to lock box — Ensure long lock rod is located in threaded end nearest the
euro cylinder

Euro cylinder
end

3. Rotate lock rods to engage with lock box




4. Insert assembly into routed door edge

5. Position shoot bolt blocks in both ends




6. Secure blocks with screws

1 & 3/4 “x 8g wood screws

7. Attach cover plate

M4 x 9 Countersink head screws




Finishing touches

Cut to length and insert coloured rubber seal into lock rod slot

\}

K]

= N

Fit handle and cylinder plate with suitable fixings

9D ||

3 9

o

P C Henderson Limited, Durham Road, Bowburn, County Durham DHé 5MNG, UK. Web: www.pchenderson.com

UK Customer Services Department: Tel: +44 (0)191 377 7345 Fax: +44 (0)191 377 3116 Email: sales@pchenderson.com
Export Department: Tel: +44 (0)191 377 7346 Fax: +44 (0)191 377 0755. Email: international@pchenderson.com.

Fer all technical queries email our Technical Department: technical@pchendersen.com

Part No: 664265

Jan 18 Issue 01




